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QUESTION 1

A new schema is defined. This error appears when the schema is saved. What is the reason for this error?

<srcSchema name="prospect namespace="demo" />
<element name="prospect”>
<key name="email">
<keyfield xpath="@email"/>
</key>
<compute-string expr="@IlastName + [location/@zipCode]“/>
<attribute length="50" name="email” type="string" />
<attribute length="20" name="lastName” type="string"/>
<attribute length="20" name="firstName"” type="string”"/>
<attribute name="zipCode” type="short”/>
</element>
</srcSchema>

T S

Element 'location’ unknown (see definition of schema 'Prospects
(demo:prospect)’).

Unable to parse expression ‘@lastName +
([location/@zipCode])'.

Error while loading detail for document '4840° of type 'Recipient’.

A. The location element is incorrect.
B. The compute-string is incorrect.
C. The type of the zip code attribute is incorrect.

D. The prospect does not have a zip code.

9A0-389 PDF Dumps | 9A0-389 VCE Dumps | 9A0-389 Exam Questions 214


https://www.pass2lead.com/9a0-389.html
https://www.pass2lead.com/9a0-389.html
https://www.pass2lead.com/9a0-389.html

P 2L d https://lwww.pass2lead.com/9a0-389.html
aSS ea 2024 Latest pass2lead 9A0-389 PDF and VCE dumps Download

—— https://Pass2Lead.com

Correct Answer: C

QUESTION 2

Which XML element correctly defines a 32-bit integer field?
A

B.

C.

D.

Correct Answer: B

Reference: https://docs.campaign.adobe.com/doc/archives/en/602/configuration-v6.0-en.pdf

QUESTION 3

How can you give access to a view without giving access to its source folder?

A. Provide only read access to the specific parent node.

B. Do not give read access on the parent node of the source folder.

C. Set the "Restrict to information found in sub-folders of" tab to the specific view.
D. The user must be able to access the source folder to access a view.

Correct Answer: B

Reference: https://docs.campaign.adobe.com/doc/archives/en/610/platform-v6.1-en.pdf (page 211)

QUESTION 4

You create a new operator in Adobe Campaign. You decide the operator will NOT need access to the system via the
rich client console.

Which statement is true when rich client access is forbidden?

A. The operator cannot login via the rich client but has web access and is authorized to make API requests
B. The operator can only access the system through SSH

C. The operator cannot login via the rich client or make API requests but will have web access

D. The operator cannot login via the rich client and has to access all functionality through a web interface

Correct Answer: D
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Reference: https://docs.campaign.adobe.com/doc/AC6.1/en/INS_Overview_General_architecture.html

QUESTION 5

The header of the email contains these words:
E-mail not displayed correctly? View the Web version
How would you implement the link?

A. Using a link to a responsive version of the email.
B. using a link to the customer\\'s website.

C. Using the mirror page personalization block.

D. Using the optout personalization block.

Correct Answer: A
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